3.5 x 103 + 2.4 x 103
5.9 x 103

4.2 x 107 + 3.7 x 107
7.9 x 107

5.9 x 104 + 3.6 x 104
9.5 x 104

6.2 x 1018 + 1.1 x 1018
7.3 x 1018

9.5 x 107 – 3.4 x 107
6.1 x 107

5.6 x 1010 – 2.3 x 1010
3.3 x 1010

8.2 x 103 – 4.7 x 103
3.5 x 103

7.1 x 105 – 2.4 x 105
4.7 x 105


3.15 x 102 + 4.67 x 102
7.92 x 10-2

5.19 x 104 + 3.1 x 104
8.29 x 104

3.45 x 107 – 1.23 x 107
2.22 x 107

4.8 x 1010 – 2.25 x 1010
2.55 x 1010

1.773 x 1012 + 2.945 x 1012
4.718 x 1012

3.61 x 109 + 4.815 x 109
8.425 x 109

8.175 x 103 – 4.333 x 103
3.842 x 103

6.428 x 106 – 2.35 x 106
4.078 x 106


7.2 x 102 + 8.3 x 102
15.5 x 102
1.55 x 103

2.737 x 104 + 7.281 x 104
10.018 x 104 
1.0018 x 105

7.538 x 109 – 7.255 x 109
0.283 x 109
2.83 x 108

4.58 x 106 – 4.25 x 106
0.33 x 106
3.3 x 105

3.4 x 102 + 5.6 x 103
0.34 x 103 + 5.6 x 103
5.94 x 103

7.84 x 105 + 3.1 x 104
7.84 x 105 + 0.31 x 105
8.15 x 105


5.99 x 107 – 4.2 x 106
5.99 x 107 – 0.42 x 107
5.57 x 107

6.7 x 103 – 2.4 x 102
6.7 x 103 – 0.24 x 103
6.46 x 103

In 2012, China had 1.311 x 108 internet users and Japan had 9.09 x 108 internet users. How many internet users did the two countries have combined?
1.311 x 108 + 9.09 x 108
10.401 x 108

About 8.73 x 108 people in the world speak Chinese. About 3.22 x 108 speak Spanish. How many more people speak Chinese than Spanish?
8.73 x 108 – 3.22 x 108
5.51 x 108

In 2017, about 1.9 x 107 people visited Blue Ridge Parkway. That same year, about 9.3 x 107 people visited Great Smoky Mountains National Park. How many more people visited Great Smoky Mountains National Park than Blue Ridge Parkway?
9.3 x 107 – 1.9 x 107
7.4 x 107

In 2006, the US had a Gross Domestic Product (GDP) of 1.313 x 1013. The United Kingdom had a GDP of 1.93 x 1012. What were the combined GDPS of the US and the UK in 2006?
1.313 x 1013 + 1.93 x 1012
1.313 x 1013 + 0.193 x 1013
[bookmark: _GoBack]1.506 x 1013
